THE CONCENTRATION In ppm




CONCENTRATION IN PPM

1 \When the amount of solute In a solution
IS extremely small, the concentration can
be expressed in parts per million (ppm).

The CONCENTRATION
IN PPM (parts per
million) Is the number of
parts of solute in one
million parts of solution.

CO; in the atmosphere



1 Thus, 1 ppm is equivalent to 1 g of solute
In 1 000 000 g of solution or to 1 mg of
solute in 1000 g or 1 kg of solution.

1g of solute
1000 000 g of solution

1 g of solute

C m=——————
(PPm) 1 kg of solution




1In aqueous solutions, 1 ppm corresponds
to approximately 1 mg of solute per litre
of solution.

1Since 1000 g of water = 1L

1mg of solute 1 mgof solute
1000 g of solution 1L of solution

1ppm =




21 The CONCENTRATION IN PPM (parts
per million) Is the number of parts of solute
In a million parts of solution.

Atmospheric (2

April 1958 - April 2011
April CO; | Year Over Year | Mauna Loa Observatory
Data: Scripps 1958-1974 + NOAA-ESRL 1974-Present

apr 211 93.1¢
Apr. 2010 392 49
Apr. 2000 389.46

data posted May 9 2011




1 Water in public swimming pools usually
contains about 1 ppm of chlorine, to
control bacterial growth.
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